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Dividing One Integer By Another Sl e sasdend 101

12a 4 = 3‘-) I.,_l_._}

(1) 3= 4+12 ay

12-=  4wx(3-) L
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(4-) + 20 () 4 +20 ()

(4-) + (20-) (5) 4 + (20-) ()
5w (4=) + 20(y) 5= 4 +20 ()
5 = (4-) + (20-) (a) 5. w4+ (20-)3)
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6+6-7x12 () 4x3-241 ()

2:10=9+8 (s S+d4+12-8()

1-84=6+6-7=x12()
B3 =
2+90+8=2+10x9+8 (1)
53245 +8 =
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12-2+1ud4x3=2+1 (l)
B-=12-3=

5#3-3.504*12-3‘_‘.]
10=54+5 =
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6+(6-7x12(l) 4x(3-2)41 ()
2+10=(9+8) (a) S5+4+ (12 -8) ()

=

Sx{t-)+1a 4x(3-20¢1 O
(4-)+ 1 =
deilin
-

B+1x12=26+(6-71x12 (o)
6+12a=
2=

S+4+(4=)=5+4+(12 = 8) ()
54 (1=) =
dm

2+10x17=2+10x(8 +8) ()
24170 =
BS =
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Tu34[(2-5)+ (4 +2)] :dasd asyl

=

Tx3e(346)a 7x 34 [(2=5)+(4+2)]
T=3+2=
21+2=
23-
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Important Properties of the Four Operations
Bu2sd4 Badse2 gl olas
2+d4=442..
Bu2x4 . 8=4x2 Qi
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442 244

9=T+2a(4+3)e2
4+3)+2a4+(3:2)..
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2Ta%u 3a(5+4)=3 .J.-...a..-u.l.,l...:.r-l.t.c_.-
27w 15412 =(5x 3) + (4 3) il
2e(BeT
(1) (5=3)+(4=x3)=(5+4)=3." 2B+ 2xTm
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8- u(1-)x (5= 4)« 3 i1l

3o m15-12 u(5x3)-(4x3)

(2) (5x3)-(8«3)=(5-4)=3.".
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88 = 6 ()

98 5 6 (o)
(2= 100)6 =
(2x6)={100 x 6) =
588 = 12 - 800 =

(79 % 7)=(89 = 7 (=)

(79 = 7) = (88 = 7} ()
(79 -80)= Tw
TMailxTs=

T4 e
ioaad syl
123x8 {"

=

123x8 ()
(3+20+100)8=
(3 B)e(20x8)+ (100 x8) =
684 = 24 « 180 « BOQ =
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(54 x 3) « (46 = 3) (})

(54 « 3) « (46« 3) ()
[Ht“l‘! 3-.
300 = 100 x 3=
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